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XN

Ce n'est pas nécessaire I"L%3:
(.1 723n) (.2 ) (.1 0°nod) : PPIX IPK TN X2PU

D'RIINNI O'NIN
(:727Pm1) : 2°X 72 MAX

(.7u p2rew) PN 2 MK

ONXNPY 27
There was an X1I1NX named XN °17:

(.2 P11

NIVYN1 "IN

The D'NIMN of DXW' YN and the number “24”:
MY aAvwin' 1
P17 *12 02197 D232 170 TOX AN 0219 00302 KPR MnIpR AKX 077wUa 19 12 e T InKT

(72 7"N)

(:10> M272) WPNIWNA2 I 12121 277 A2 P8 PTIA T 072 MR 702 719 12 W NN

wpb W™

(:12 A2°37) XN 722 XN257 °1N 117 DXIWT KUK MPIWT 3270 X2NX X772 77700 wph v
7P '

(.2 P11 RDE) 1R IR TN 99 NP2 MmN PKAw 172 910 027127 UK 0WL PR N owa i

(.79 XiP¥n X12)
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A Xin:
X1 "M
The list of X171’ contains 24:

(7 Xnp X22) P MaxX .1
(:M2 P7TmIo) MU mamp Poon .2
3. The M10n11 9710 according to the version of XN>72m19, that X”11 "1 permitted to go out with on
N2w and 210 O contained 24 nails and no more.

(:0 NaWw)

121 79 URT XN9N

X277 1D XPWD R Y CUPKT XN
(.30 D) (112 DT P RBYNT) 1D 19R P Wi NWX
PNOUTTPAR PP KWW X217 77D PUKT KNP0
2P P22 PR 1w

(2 1) (e n)

12 1PN ARWIAY 727 007

The phrase appears several times in regards to three categories of 1277 all of which have to do with
0°771.

XHD 17 TNXK *XNK ﬂP]‘? Dow 770 1mn TI|71'? ANIX AT 12 °01 11271 X 1D DU IR R IR L1
12 7170 ANWINW 12X 72 10 YN 771 P I8 WK 1278 KT A7 XU XKD oW 77832 Tl|715

(n Mman2)

727 AX XX IXY 127 072X 770 XD I X1 1912 718 72783 X7 0100 71U 2% 72783 10T
(.7 77271) N XD MWD MWDl 9N 12 7PN InwInw

ANWIAY 127 92277 171212 778 11 58 a0 T8 WK T8 1278 X 13 °Du 051 70w T u
(.2 271) 1912 77 3 12 1PN

N % oor T PXIINKP I .2
. f f | | | I | 1
X’ TN 12 1PN ANwInw 1372 770 AT AT 70" wn

ARWINW 127 wTRR DIX 121 DWTIRR APK D NWNPK X0 NWNpn Y9 0 wpni X327 0K
(T PP 121 K2 XOX X7 KD KiT 10172 717190

((.22mpr2) 112 N AnwInY PN D7 IAPX 1N°K)



n”a

"I qT

DREF B0 INSIESTS

tan P B 2 ) W a7 1728 1 i o e s o 2 B e B I k74 sl m i B P o o B i R T s G
(:X2Pn) i

A Vort For Each Daf a'-N

X A7 XOIPTAT XN2N
| heard the reason 722 doesn’t start with X 77 is because 7 MN? AATR PIX 77:

However the *1n%u17 does start with X 77. Does the *n?Y17 not hold of MN% [RTP IR 17?
"2 97 XNIPT3T XN
A possible name for a 174 JM91 not universally accepted, a name based on 2 77 P21,
The name is ” 7171 20"
ST XKMPTAT XOPN
MY W AKIY AWAY X PRAW T2IKD 17101
And By The Arm Of His Strength
So is “7 a lefty?
Avorton ‘Ta7and ‘71 A7:
PR XX KD 1PER XX
(:71 P13 °on5uN) PR MITPI XKW DIWA PRAW P27 XU 107 " I0RK
(:77°13) PR NPT DX MR KA XOW 0192 TAK X2 WA 11 IRIKG I0IK Unw
Skl
(.71 1) *NNTIA SXINYD WU NI KT 9N 102 1DXWW I K XD

N 7 IAKT M0 2" 2 XKD 910 DXIRW 2°0 01 DRI 1T WK 7 22027 KD PR 12 1am D nK)
NX >N2%71 *2 >N 22027 PR FIXDR FIRT AT 1K 200 D K Nnn DRI Dw nn n 1T 1w 2113

XD IR 1WA 10 1A KNP DX 1IN 0K TR 22027 710K IR 2Ny 3"wa 17187 K IKkw
7AW Xp XD PIXW M’ AU 2 1"2p0 7K 2 0T WU D0an? X7 2K X 0N 0T TwUn 1902
M%7 PRI TIT M%7 A 122 DX M’ X1 IR NiD XD TPINAX 1300 0K SXInw mnh hriny
N2 DWW DA 7023 2w DIXW 220271370 7IP1 POU PropX 1R K X2l XPnD 19°0K [NT°ana nu
NI OXINY PW NN XA 02 P NY YA AV DIXED 07307 77 11D XOX 1771 PXX 823 P A 0D
D°NI7 0°X°232 °NAXT 12 DU 22027 °KN NI 1 10K 23001 12 DXINY NIRRT PR X2 °0PR X123 10 0
(:77 DP3UN) X723 °0pn X123 070 XX D 1nKa XX TAKI XD DPwund °0 nXa

By The Way here is another X701 that can be found in two places in 0”w on ‘11 77:

(71 PYTR)(: 0°7T) D I KD DI PR 02T OXINW 120 KXD
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Avorton‘1f7and ‘177:
The ruling of 9971 N°2 is even if the door is not closed:
(7 Prn)
The ruling of >°Xnw N1 is even if the door was not opened:
(.1 P15 ) (NPT NNEl XD 19°0K)
Avorton‘taT7and ‘N AT:
Saving money by sharing Expenses:
(.11 P13 °n5W) 1T DX T PR PR P OX
(:1 72°3) >T772 1 NTIY0 021 PAX 72 7130 N PAX 72 7K
According to the 0”217 they did this to save money.
(1" 712577 2 P9 P an MY 0"an)
By The Way here are some X771’s that can be found in two places in 0”¥ on ‘11 77:
(:17 FI3) (21 R TIIA) INWXA XD PAN2 NN
(:n 773)(.7 7¥°2) M 78y
By The Way here are some X771’s that can be found in two placesin 0”won’15T7and ‘11 77:
(.71 PwTR) (7 0 T) (20 02 (:M T P nDw?) NN An Unw
' AT XM7Y Xn>n
(:t2 O°108) 121 X0 X023 T2 701 X327 DX
By The Way here is a X711 that can be found in two places in 0”& on ‘10 77T:
(:00 7T3)(.10 M272) P NUWA PHU N0 NUAY M X KT
Avorton ‘> qT:
(> 0°773) 12112 7T NPAR DRI 02 17w WS AR RS 12 w10 MK D 10K A0 P R
But in "now1:

The MW are reversed.
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Avorton ‘X’f7and ‘2’ AT:
According to X2’ "1 it means exactly what it says, it is wnn:
(:%° 71210) M0
(.22 am) X 0w
Avorton ‘) qT:
(.3 °13) 212X NI 12 PPN Xua

The 0”217 paskens he is a 7’11 right away. 7”2X7 argues. The 7131wnN 702 explains the 0”217 as follows.
The two 0>77¥ of the X1 are 12T or DX, The TX of 1’ 112>7IX is when the friend will have a son
he will be a 7’11, and the T7X of °’D1X is on the M1l meaning the essence of what he is saying which is an
acceptance of M7°11 without the external clause of “when the son is born”. The 0”217 paskened like this
121 PO 1P *¥n’N OX as he always does and this is also the T’w of the D°11X3 to always pasken like
the 2"NX’s of the X7

(' 712%1 "2 pn M M2k 0"an)

Fourteen:

Here’s the vort for Fourteen:
Brace yourselves:

M2 XE2PY 712 XEPP% 122 DX 1K 191 X210 703 3T 1 I80XA Xp MM wph 12 nunw 7 el
(.79 XWX X22) 191 XOPWIR BRI PIwL 2 wpn M X090 XPnK

“The Gemara poses a fourteenth and final challange:” (Artscroll Temurah 6a3)

The number of challenges against X1177 "7 and 7777 7 combined in the opening X210 of 0’1100 NJ0N is
14.

(-1 0°’roD)

The *n5u17’ doesn’t answer the question but in *>32 it is a nPY>MN:
(.77-.7 D773)(:0-.00 P P PWA) 0P PR 3T 0P PR

The *522 doesn’t answer the question but in 5w it is a nP>N:
(.17 1) XD IX I'ﬂ|?'7735 770 °U1 1071 M3 122 X1 7°71 827 °82
MO YD U ’73|773 PX 0K TTED 27 ﬂPﬁ XM 7291 w9 *72 Do YU 7NN X 1307 2270w 137U

(:¥ P11 onde)
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Same Difference, Opposite Phrases with Same Meaning:
(.77 XIP) *XWMaw Awun DU 19271 *Xwnaw 127 X2

(77" XIP7 1"2N72 XA 70 7127 XIP7) D1p DU 19071 D1p X2 1M3apn K
ke iy p)
WK INKTI

E.G. Slim chance, Fat Chance

2 for1and 1 For 2:
2 for 1:

(9 P13) 1291 XD W DPUAw 0P 27 0K
1 for 2:

(.2 P13 nPEIT) NAX XOX 172 PR NAXD [Nw w95

A Switching Of The Letters:
(.22 P13 NYWIP) AN AXAUI 12°DK1 PR ' 0w I 101 wInTY Ul

(.32 P13) a1 T 10D 5¥N X2°PU " WA Owd)
P PInRuT) 21 17 1095 Wan apwe M enwd
( | |
(:2n ’DbW]T’) VINY O A MY D2 MUY TN 1273 DINNN MY N O X NIXT XN
The *n5u17 changes 3 to 2:
(.10 P13 o NSUNT)
The N1’ changes 2 to 3:

(:2u M2 AU (1Y PR TN O AX N1 oW1 °In)

The conceptual O”win NION

(T M MOWINY) NY'DO PV NWYL .1
(.AD NID12) 0P 'YYA D'WN IWYI NNINY D' TA .2
(.AD |'">IN) AN NDN AN ND No' .3



